Rittal - The System.

Faster — better — everywhere.

Erdbeben-Kit
Earthquake kit
Kit antisismique

8618.600

Montage- und Bedienungsanleitung
Assembly and operating instructions
Notice de montage et d’emploi

- ENCLOSURES POWER DISTRIBUTION CLIMATE CONTROL IT INFRASTRUCTURE SOFTWARE & SERVICES RITTAL -
N

FRIEDHELM LOH GROUP -....




Sicherheitshinweise
Geratebeschreibung
Lieferumfang

Montage

Demontage

Montage Erdbeben-Kit
Montage Erdbeben-Kit —
Verstrebungen

Einbau Montageplatte

Inhaltsverzeichnis
Contents
Sommaire

&

2.1

3.1
3.2
3.3

3.4

Safety instructions
Device description

Scope of delivery
Assembly

Disassembly

Assembly of earthquake kit
Assembly of earthquake kit —
bracing struts

Installation of mounting plate

Page
Consignes de sécurité 3-6
Description de I’armoire 7
Composition de la livraison 7
Montage 8-11
Démontage 8
Montage du kit antisismique 9

Montage du kit antisismique —
entretoises 10

Montage de la plaque de montage 11

Erdbeben-Kit/Earthquake kit/Kit antisismique



AN

1. Sicherheitshinweise
1. Safety instructions
1. Consignes de sécurité

@&

1. Veiligheidsvoorschriften

®EE&®®W®E®E®

1. Sdkerhetsinstruktioner

@

1. Istruzioni di sicurezza

G

seguridad

@

1. Instrucciones de

)

Waarschu-

Hindernissen am
Boden

Obstructions on
floor

Attention aux
obstacles au sol

voor obstakels op
de grond

Varning for hinder
pé& marken

Pericolo ostacolo
in basso

obstaculos en el
suelo

Warnung vor der h h Danger di a ’ Prestare attenzi- Atencion, movi-
SchlieBbewegung \é\(ggmngﬁ;&g\z@t la fermeture \é\llm?bgsv%r (ijne Varning for stéang- one alla chiusura miento de cierre
von mechani- mentsgfor mecha- de pieces van mech%ni%che ningsrorelse pa delle parti mec- de componentes
schen Teilen einer nical parts of a mécaniques onderdelen van mekaniska delar i caniche di una mecanicos en
Maschine/Einrich- machpi)ne/device d’une machine / cen machine/ en maskin/enhet macchina o di un una maguina/
tung installation voorziening dispositivo instalacion
Warnung vor sich h h . Waarschuwing Prestare atten- » -
bewegenden Warning against Danger dl & des voor bewegende Varning for rérliga zione alle parti Atencion, compo
! independently piéces méca- ) ? ; . nentes mecanicos
1E H_ meohanlsohen moving parts niques mobiles mechanische mekaniska delar meopamche in en movimiento
Teilen onderdelen movimento
. - Attention au Waarschuwing Varning for . . .
Warnung vor Risk of fipping basculement lors voor kantelen véltande foremal Pericolo di Advertencia
Umkippen durch due to displace- du déplacement als gevolg van 2 grund av cadute tramite lo de vuelco si se
Schwerpunkt- ment of centre of duc er?tre de zwa?art ep%nt— %rsgkjut en spostamento del desplaza el centro
verlagerung gravity gravité verschuiving tyngdpunkt baricentro de gravedad
Warnung vor . . Waarschuwing L . Advertencia
£\ | oo Goon et | oot | voorschepe” | jemingorvassa | Peleciooogeto | G oaos
{ Gegenstand voorwerpen puntiagudos
f E Warnung vor Caution: Waarschuwing Advertencia de

o Warnung vor Caution: Attention aux xg%?r;?vgg;vmg Varning for tung Pericolo carichi Advertencia de
schweren Lasten Heavy loads charges lourdes belastingen last pesanti cargas pesadas
Warnung vor Caution: Attention aux Waarschuwing P . Advertencia de
Hindernissen im Obstructions in obstacles au voor obstakels op i\/ﬁar\}lggﬁ‘grdhlnder Eeglifglo ostacolo obstaculos en la
Kopfbereich head area niveau de la téte hoofdhoogte ) zona de la cabeza

Die Anleitung ist The instructions La notice doit Lees de gebruiks- Bruksanvisningen Leggere le Leer el manual de
Zu lesen must be read étre lue aanwijzing maste lasas istruzioni instrucciones
Aufsteigen auf Climbing on sur- Il est interdit de Het is verboden Forbjudet att st Divieto di salire Prohibido subirse

eine Flache ist
verboten

faces is prohibited

marcher sur toute
surface

het opperviak te
betreden

pé& maskinens ytor

sulla superficie

a una superficie

Installation durch

Installation by

Installation par

Installatie door

Ska installeras av

Linstallazione
deve essere

Instalacion a reali-
zar por un técnico

& ®® 9P

N specialist un électricien elektrotechnisch g . eseguita da un ..
Elektro-Fachkratt electricians confirmé personeel behdrig elektriker elettricista gfaﬁitfrigség
qualificato
Linstallazione Instalacion a

Installation durch
Mechanik-
Fachkraft

Installation by
specialist
mechanics

Installation par
un mécanicien
confirmé

Installatie door
monteur

Ska installeras av
behdrig montér

deve essere
eseguita da
un meccanico
qualificato

realizar por un
técnico mecanico
cualificado

Erdbeben-Kit/Earthquake kit/Kit antisismique



@ @ D E @

1. Turvallisuusohjeet
1. Sikkerhedsanvisninger

1. Wskazowki dotyczace

2 i 1. UHcTpyKumm 3a 6e3onacHoCT
bezpieczenstwa

1. Mepbl 6e30nacHoCTH

1. Bezpecnostni pokyny

Advarsel mod Uwaga na Mpeaynpexaerne | peaynpexaenne
. : . 3a [B/KEHNE OT 06 onacHocTn
Varoitus koneen/ lukkebevaegelse zamykajace sie VWstraha o
; . - ol A ystraha pred 3aTBapsALLM ce npu 3aKpbiBaHNm
laitteen mekaanisten af mekaniske czegsci mechani A ,
’ - 2 ; rizikem Urazu ruky MEXaHWYHM YacTu MEXaHN4ECKNX
osien sulkuliikkeesta dele i en mas- czne maszyny Ha MaLLnHa/ qacTel MalLHLY
kine/indretning lub urzadzenia
obopyaBaHe YCTaHOBKM
MpenynpexaeHne
. . . Advarsel mod Uwaga na ’ . MpenynpexaeHre | 06 onacHoOCTH
w \rgaéggggi glils(‘t(:\gg;[sata uafhaengigt ruchome czesci \R/Sésztrfr?ggkéni 3a ABWXKELLIN ce LBVKYLLIMXCA
:E E_ beveegelige dele mechaniczne MEXaHWYHM YacTu MEXaHNYECKNX
YacTen
Mpenynpexaexvie
o _ Ostrzezenie przed L 3a ONacHOCT OT MpenynpexaeHne
Varo: painopisteen Eiﬁ'ko glorr\(ﬁ?g af przewréceniem V?ég;/éacnérﬁ{ﬁd npeobpblLaHe 06 onpokuabl-
siirtymisesta johtuva forsgkpdn?n af sig z powodu g asobenvim nopagu BaHWM BBUAOY
kaatumisvaara tyn g o un%t ot przesunigcia g sunutl'n¥ 1eists n3mecTBaHe CMeLLeHns
yngaep Srodka cigzkosci P Ha LeHTbpa Ha LileHTpa TsHKeCTu
TeXecTTa
Advarsel: Ostrzezenie przed Varovani Mpeoynpexpenve | lNpegynpexpeHve
(713 Varo terévia reunoja Spidse gen- ostrym przedmi- pred ostrym 3a ONacHOCT OT 06 ocTpom
] stande otem predmétem OCTbP NpeamMeT npegmete
Varo: kompastumis- Advarsel: Ostrzezenie przed | Varovani pred ggg%';ﬁgﬁg:”e MpeaynpexaeHne
vaaré P Forhindringer pa przes;kodami na pFeKa’ikami na B e O NMPENSATCTBUAX
gulvet podtozu zemi semsTa Ha nony
o, Varo raskasta %(er\]/géselz OsFrzeZenief przed Varova’m’ pred gf gﬁézag)gfg:me ggiﬁgﬁ?fﬂeme
m/ﬁ“ kuormaa belastninger duzymi ciezarami tezkymi bremeny TEXKN TOBAPN Harpyakax
MpenynpexaeHne
Varo putoavia Advarsel: Ostrzezenie przed | Varovani pred 3a ONacHOCT OT MpenynpexaeHne
esin eﬁé Forhindringer i przeszkodami w prekazkami v NpenaTcTBMs B O NPENSTCTBUAX B
hovedhgjde poblizu gtowy oblasti hlavy obnacTTa OKono BEPXHeV obnactu
rnasara
. . . Odkaz na inst-
PR Vejledningen Przeczyta¢ h [Mpoyetete [MpounTats
Lue kayttdohjeet . h rukce navodu k
@ skal leeses instrukcje pouziti/brozury PBbKOBOACTBOTO PYKOBOACTBO
i ’ Det er forbudt at Zakaz « Ka4aHeTo BbpXxy CTaHoBUTLCA
Eizﬁg?t astuminen on klatre p& maski- wchodzenia na Nga!iﬁat na MOBBPXHOCTUTE Ha NOBEPXHOCTb
Y nens overflader powierzchnie P € 3abpaHeHo 3anpeLLaercs
. YcraHoBka
Asennuksen saa . Skal installeres Instalacja przez Instalace vyzaduje MOHTaXBT Cce cunamn
suorittaa vain gahko af udqannet elektryka elektro odbornost V3BLPLLBA OT CreunanncToB no
alan ammattilainen elektriker ENEeKTPOTEXHNK SNEKTPUIKE
Asennuksen saa Skali YcraHoBka
h h al installeres f Instalace MOHTaXBT Cce
suorittaa vain Instalacja przez ) cunamm
o af uddannet h odbornym 13BbpLLUBA OT
mekaniikka-alan mekaniker mechanika mechanikem MEXaHIK CneuyanncToB no
ammattilainen MexaHvke

~

Erdbeben-Kit/Earthquake kit/Kit antisismique



ol

1. Yiodei&eig aodpaieiag
1. Instructiuni de siguranta
1. Sigurnosne upute

1. Biztonsagi utasitasok
1. Saugos nurodymai

1. Ohutusjuhised

<D,

@ E @ E O E W

@

G3)

1. Drosibas noradijumi

@

lMpoetdoroinon Avertizare cu Upozorenje Gép/berende- |spéjimas dél Hoiatus masina/

TPV aro TNV kivnon | privire la miscarea | opasnost od zés mechani- masinos / seadme meh- Uzmanieties

KAEBWHATOG de inchidere a ukliestenja kai részeinek irenginio haaniliste osade iekartas/masinas

HNXQVIKWV JEPWV pieselor mecanice | mehanickih zaromozgasara mechaniniy daliy sulgemislikumise mehanisko dalu

piag eykaraotaone/ | ale unei masini/ale | dijelova stroja/ torténd figyelmez- judéjimo, 06 ng[ aizverSanas laika

unxaviuatog unui dispozitiv uredaja tetés uzsidarymo metu

. Avertisment cu Upozorenje Mozgd mecha- " . Uzmanieties

Qgg SKIS%EEQV%H privire Ia pieseIeA na mehani{:ke rw_ikaj rés;ekre gg?ﬂgﬁrﬁéiu mgﬁ;%zgliﬁgt\éate no kL_Jsﬁge’im

_EWE_ HINXQVIKG EPN mecanice aflatein | dijelove koji su u tortend figyelmez- mechaniniy daliy osade eest mehaniskam
miscare pokretu tetés dalam
Mpoedoroinon Avertizare de Figyelmeztetés a |spéjimas apie Hoiatus Umber- Bridinajums

Qavatporrg Aoyw

rasturnare prin

Upozorenje na

felddlés veszél-

galima apvirtima

kukkumise eest

par apgasanos

> B B B P

HETATOTIONG TOL ggﬁtlfjﬂ%ae pg‘mgﬂ%%g%gt a yére a sulypont dél svorio centro raskuskeskme smaguma centra
KEVTPOUL Bapoug greutate P ) eltoléddasa miatt perkélimo nihkumise tottu novirzisanas de|
Mpogedortoinon . - . Figyelmeztetés . " Bridingjums
aix(npoy Obieois aete. | S procmer | ewes targyak | BEREREOE | EORLSEA | par asiem
QVTIKEWEVOL ; veszélyére priekSmetiem
Mpoeidormoinon . - . Figyelmeztetés a . Hoiatus porandal Bridinajums

yla epnédla oto ﬁgigé%ﬁg g';g}d LZJ;D C;Zi;egge ,[TL? padlon taldlhatd leﬁjﬁlsn;?wst geprl‘r? 55 asuvate takistuste par Skérsliem
£6adog P akaddlyokra eest uz gridas
Mpoeidoroinon Avertizare privind Upozorenje na Figyelmeztetés Ispéjimas apie Hoiatus raskete Bridingjums par
yia Bapld dpoptia sarcini grele teske terete nehéz teherre sunkius krovinius koormate eest lielu slodzi
Mpogisoroinon Avertizare privind | Upozorenje Figyelmeztetés |sp&jimas apie Hoiatus pea Bridinajums par
yla epnédla otnv bstacole i K fejmagassagban Wit | piirkonnas SKard |
TEEIOX TNC obstacole in zona na zapreke u talalnato akada- idtis galvos asuvate takistuste | Skersliem galvas
KEMOATIC capului podrucju glave lyokra aukstyje cost zona

Anareital To
SipBaopa Twv
odNylwV

A se citi manualul

Procitajte upute

Az utasitast el kell
olvasni

Skaityti instrukcija

Lugeda kasutus-
juhendit

|zlasiet instrukciju

AnayopeveTal n

Urcarea pe o

Zabranjeno je

A felUletre lépni

Draudziama lipti

Pinna peale astu-

Aizliegts kapt uz

MO M

avdpaon oe pia suprafata este penjanje na ) o . .
ETIPAVED interzisa povr$inu tilos ant pavirSiaus mine on keelatud virsmas
Instalaciju
. . smije provesti A szerelést o . UzstadiSanu
EVKGTOWG,O” and | Instalarea se samo ovlasteno elektromos sza- Turi jrengti elek- Kvahﬁ.tseentud drikst veikt
EKTIAIGEVUEVO va face de un x ' ; elektriku poolne Hemt Ll
ASKTOOAGYO electrician calificat stru¢no osoblie kembernek kell trikas aigaldamine tikai kvalificéts
n poroY za elektricarske elvégeznie paig elektrikis
radove
Instalaciju
. . smije provesti A szerelést Kvalifitseeritud UzstadiSanu
Ezﬁgf&olj%%g ano Ifgz?lgl;ejnse va samo ovlasteno mechanikus Turi jrengti mehhaaniku drikst veikt
QVIK é“ mecanic calificat struéno osoblie szakembernek mechanikas poolne paigalda- tikai kvalificets
HNX za mehani¢arske kell elvégeznie mine mehanikis

radove

Erdbeben-Kit/Earthquake kit/Kit antisismique



ol

&

1. Varnostni napotki
1. Bezpecnostné pokyny
1. Instrugdes de seguranca

€3

Opozorilo pred
zapiranjem
mehanskih delov
stroja/naprave

Davajte pozor na
zatvaraci pohyb
mechanickych
Casti stroja/zari-
adenia

Cuidado quando
as partes meca-
nicas de uma
maquina/insta-
lacéo se fecham

250

Opozorilo pred
premikajocimi se
mehanskimi deli

Davajte pozor na
pohyblivé mecha-
nické Casti

Cuidado com as
partes mecanicas
moveis

Opozorilo pred
prevrnitvijo zaradi

Varovanie pred
prevratenim v

Cuidado com o
risco de queda

sp(emenjenega désledku prgmi— ﬁqe;ﬁtgeggoggh tro
teZisca estnenia taziska de gravidade
Opozorilo pred Varovanie pred Cuidado com

ostrim predme-
tom

predmetom s
ostrym hrotom

objetos pontia-
gudos

BB B B P

Opozorilo pred
ovirami na tleh

Varovanie pred
prekazkami na
podlahe

Cuidado com
objetos no chao

Opozorilo pred
tezkimi bremeni

Varovanie pred
tazkymi bre-
menami

Cuidado com
cargas pesadas

Opozorilo pred
ovirami v visini
glave

Varovanie pred
prekazkami v
priestore hlavy

Cuidado com
objeto a altura da
cabeca

Preberite navodila

Precitajte si navod

Ler as instrugoes

Vzpenjanje na
povrsino je prepo-
vedano

Je zakdzané
vystupovat na
plosinu

E proibido subir
para a superficie

Namestitev lahko
izvajajo samo
usposobljeni
strokovnjaki za
elektrotehni¢na
dela

InStalaciu smie
vykonavat len

Specializovany
elektrotechnik

A instalagéo deve
ser feita por um
técnico eletricista
especializado

Namestitev lahko
izvajajo samo
usposobljeni
strokovnjaki za
mehani¢na dela

InStaldciu smie
vykonavat len
Specializovany
mechanik

A instalagao deve
ser feita por um
técnico mecanico
especializado

BCHONTNY M

Erdbeben-Kit/Earthquake kit/Kit antisismique



2. Geratebeschreibung
2. Device description

2.1 Lieferumfang
2.1 Scope of delivery
2.1 Composition de la livraison

2. Description de l'accessoire

Best.-Nr.
Model No.
Référence

8618.600

2x

6 x

2x

M5 x 12

150 x

M10 x 20

- ’IIIIIIII:'III:‘II,',I -

M8 x 20 (klebend/adhesive/adhésive)

M8 x 20

14 x

|-

M8 x 8

M10

16 x

M8

14 x

Erdbeben-Kit/Earthquake kit/Kit antisismique



oo f

@ & &

= L ST)

Erdbeben-Kit/Earthquake kit/Kit antisismique

oo df

= L ST)

A A A A A A A

®

3. Montage

TX25/30
3. Assembly
3. Montage

[3
\
2[4

1

1

3.1 Disassembly
3.1 Démontage

3.1 Demontage




®®®
A A®

R 0 i 0 i 0 i 0 i 0 Y 0 1 & = =Sile; -

I ASEAS

5 Nm

Ma

Ma =5Nm

I 7

A A\ I\

Ma =5Nm

Th

TX25/30 | |mm

3. Montage
3. Assembly
3. Montage

0€8 oSk

3.2 Montage Erdbeben-Kit
3.2 Assembly of earthquake kit
3.2 Montage du kit antisismique

Erdbeben-Kit/Earthquake kit/Kit antisismique



TX25/30 | [swe/s | |sw17 @&

® O o

3. Montage
3. Assembly
3. Montage

3.3 Montage Erdbeben-Kit - Verstrebungen
3.3 Assembly of earthquake kit - bracing struts
3.3 Montage du kit antisismique - entretoises

Hinweis:

Vor dem Einbau von weiterem Zubehor ist zu
prufen, dass dieses nicht mit den Komponen-
ten des Erdbebenkits kollidiert. Veranderungen
an der geprUften Konfiguration sind ggfs. nicht
erdbebentauglich.

Note:

Prior to installing other accessories, check that
they do not collide with the components of the
earthquake kit. Changes to the tested configu-
ration may not be earthquake-proof.

Remarque :

avant de monter d'autres accessoires, il faut
vérifier que ceux-ci ne se télescopent pas avec
le kit antisismique. Toute modification sur la
configuration testée ne sera pas considérée, le
cas échéant, comme antisismique.

10 Erdbeben-Kit/Earthquake kit/Kit antisismique



TX25/30 | [Swé @&

® ®

3. Montage
3. Assembly
3. Montage

3.4 Einbau Montageplatte
3.4 Installation of mounting plate
3.4 Montage de la plaque de montage

Hier ist die Schraube M8x20
klebend zu verwenden.

Use adhesive M8 x 20 screw
here.

Il faut utiliser les vis M8 x 20
adhésives a ce niveau.

Erdbeben-Kit/Earthquake kit/Kit antisismique 11



Rittal - The System.

Faster - better - everywhere.

m Enclosures

m Power Distribution
m Climate Control

m [T Infrastructure

m Software & Services

You can find the contact details of all
Rittal companies throughout the world here.

[=] cam]
[=]

www.rittal.com/contact

11.2023/D-0000-00001556-05

RITTAL GmbH & Co. KG
Postfach 1662 - D-35726 Herborn
Phone +49(0)2772 505-0 - Fax +49(0)2772 505-2319

E-mail: info@rittal.de - www.rittal.com ﬂ

- ENCLOSURES POWER DISTRIBUTION )  CLIMATE CONTROL IT INFRASTRUCTURE SOFTWARE&SERVICES RITML -

FRIEDHELM LOH GROUP - ...




